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Topic:- Grad_Nutrition and Health

1) The amount of additional energy proposed in pregnancy by ICMR is-/ICMR gRT THfaxT #
ywdIfad Sifafad St @1 AT frat &:

1. 300 calorie/300 PRt
2. 1000 calorie/1000 sy
3. 100 calorie/100 ey

4. 800 calorie/800 HTR}

Correct Answer :-

« 300 calorie/300 Hat

2) Kwashiorkor is a deficiency of:/ SIRAR®R I gidl &:
1. Lack of Protein/ UTe & &l ¥

2. Lack of Protein & Fat/ UI¢H d 991 &1 ®HI I

3. Lack of carbohydrate/@TagRSe B HH! 4

4. Lack of Protein and carbohydrate/TieH @ HEGIRSC B HHT I

Correct Answer :-

e Lack of Protein/ U & HH g

3) What is the amount of blood sugar in a normal person is:/T® IH fed H Yo ST DI AT

ot gt 3

1. 50-55 Mg./100 ml./50-55 f&.711./100 .=,

2. 40-60 Mg./100 ml./40-60 f&.71./100 f&. <.

3. 150-180 Mg./100 ml./150-180 f&1.711./100 f& <.

4. 82-120 Mg./100 MI./80-120 f&.311./100 f1.<.



Correct Answer :-

« 82-120 Mg./100 MI./80-120 f&.311./100 for. <.

4) Clinical name of peritusis is:/ I'R'gﬁmaﬂ fafeeia HTH%:
1. Dengue/@'ﬁl

2. Diphtheria[%q'?ﬂﬁtﬂ

3. Hooping cough/ﬁ?ﬁ@ﬁ

4. Influenza/<FJU-SIT

Correct Answer :-

« Hooping cough/dhTei! it

5) In which state of India stable regional office of UNICEF is:/J-{% (UNICEF) &1 &=\a srafay
YR & I QU & fRa 3:

1. Punjab/UdTTd

2. Tamilnaduﬁ@ﬂ:ﬂ;{
3. Chennai/ﬁ?ﬁc

4. Delhi/fSeat

Correct Answer :-

o Delhi/fGcnt

6) Family planning centers have been set up in:/tIﬁT:I'R fratem o wifte fa ™ %:
1. Every city/m TRHA

2. Every viIIage/W DR

3. Both of the above/ JURIad &I

4. None of these/3TH O P gl

Correct Answer :-

« Both of the above/ SWRIad gHI

7) Bacteria of Hooping Cough is: /®Tell Wit TRT HT Sitary 3:
1. Bordetella pertussis/STScal URg R

2. Varicella/aR&e

3. Vibrio Cholera/fdfsial et

4. Clostridium Telani/diReIfead fee



Correct Answer :-

« Bordetella pertussis/aTs caT TR

8) Objective of ICDS is:/3TE. 3. S0, FTIIT R :

1. Development of the mother's ability to take care of the child herself./Hi DI &l B W, ISR 131'521 P
T/ WG IR Gb

2. Promote family planning methods/ARaR e o IUTAl & dgidT &1
3. Make sure to women empowerment/Hfgcll TRIfaddmR0r FATRad BT
4. To linking adolescent girls to employment activities/f=NNAT T AR AR T o Sl

Correct Answer :-

« Development of the mother's ability to take care of the child herself./d &1 &HdT &1 fdw™, foTw a8 R
D U W& IR b

9) The monosaccharides sugar is- /ﬁ'@%ﬂﬁg HT %:
1. Starch/E'Iif

2. MaItose/IITEﬁTr[

3. Lactose/@ﬂiﬁﬁf

4, Glucose/@\_ﬂ

Correct Answer :-

. Glucose/‘@ﬁ\_r[

10) Which disease is controlled by Bevek vaccine?/ da® IwiF f5a I &1 e s %”
1. T.B./dufew

2. Hepatitis/%ﬁagﬁﬁ

3. PoIio[Cm%ﬁf

4. Cholera/%\_rﬂ

Correct Answer :-

« Hepatitis/guci3icd

11) Which mineral deficiency is rickets?/ﬁm e FurR 5 @fe #1 wH Bt 82
1. Iron/3RA

2. CaIcium/%%Ilﬂ'q

3. Sodium/TIf3TH



4, Potassium/th%ﬁrq'q

Correct Answer :-

o Calcium/dieRmaH

12) Which disease is caused by H.1.V. virus:/@.éﬂﬁ.ﬂ’f. ﬁ'qTUJ J B IR gian %:
1. AIDS/USH

2. Marasmus@ﬁﬂ

3. Aneamia/G-ifHAT

4. None of these/3TH J ®IS 751

Correct Answer :-

13) Vitamin—A deficiency disease is/faeIf¥A-A &1 HH A 89 arem T S A 8:
1. Night blindness/e

2. Xerosis cornea/SIRIRM wIfHar

3. Keratomalacia/fdeHafemr

4. All of the above/SURIed T4

Correct Answer :-

« All of the above/SWRIad HT

14) In the condition of diarrhea which nutrient get less in body:/ 3ifaaR $1 fRufd # TR A fFa
I 1 H4 81 Al 8

1. Water/qIdl Ci|

2. Potassium/UIeRIaH &t

3. Sodium/SfSTH H

4. All of the above/SURlad it

Correct Answer :-

« All of the above/SWRIad g+t

15) Beri- Beri disease in human is due to:/ﬂﬂ'&ff A 3-8 A - ﬁ'cIT ?:
1. Deficiency of vitamin—A/fAeii—-A & HH 9
2. Deficiency of Vitamin—-C/fdeTffa-C &1 &t 9
3. Deficiency of Vitamin-B/fdeiff=-B &I &4t 4



4. None of these/stl'ﬁf I ﬁ'{f :Eﬁ

Correct Answer :-

« Deficiency of Vitamin-B/fdeii-B &1 &4 &

16) Establishment of Indian Red Cross Society was:/ 3‘%‘&7{ ¥S T ATAE! $ RITYAT HF Bt TI'§
At

1. In 1945/1945 H
2.1In 1925/1925 H
3. In 1920/1920 H

4. 1n 1935/1935 H

Correct Answer :-

e In1920/1920 H

17) Weight of a healthy infant at the age of one year is: /Tdh WO ﬁl"{[ DT dul Th af 31 S IR
e gt &:

1. Twice the weight of birth/SI=I & aol I GR[AT
2. Tripled by birth weight/S = & aoi= 9 AT

3. Four times extra of birth weight/sTH HIo I Eﬁﬂ:ﬂ
4. None of these/ s:n?r I ﬁ'&f T8l

Correct Answer :-

« Tripled by birth weight/S= & Jo- ¥ ﬁ‘fﬂ

18) Who first made the vaccine of chicken pox?/ﬁiﬁ? BT AT JduyH fHua I9maT Ur?
1. Jennar/@:R |

2. FIeming/U@rﬁﬁ q

3. Madam Query/A8H R 3

4. None of these/37TH ¥ ®Is -Ta!

Correct Answer :-

. Jennar/@*R 3

19) Which of the following disease is called 'lock jaw'?/ 9 & ¥ fFd AT F I wweT Wt Fed 22
1. Diphtheria/fewdifear
2. Hooping Cough/dTeit @it



3. Polio/difera
4. Tetanus/feeTa

Correct Answer :-

o Tetanus/feeTg

20) Which changes are happen in adolescence?/ﬁv"\’ﬁ?lﬂw H P19 | uRadq g %:
1. Emotional/HIdTH®

2. Mental/ﬂﬂm

3. Physical/ﬂm

4. All of the above/IURIad T4

Correct Answer :-

« All of the above/SWRIad I+t

21) Which of the following disease occurs due to malnutrition:/ g H A B a1 I ?‘ﬂ'lTUT gRT

BT 8:

1. Aneamia/Iddleddl
2. Jaundice/diferan

3. Typhoid/ClaWIgS
4, ChoIera/%TrlT
Correct Answer :-
» Aneamia/IadleUd!

22) Anemia is the state of which stage which is most viewed in girls:/IFﬁﬁmT &y srawut FY
arfeere ¥ Iaw iftre @ ST @ :

1. Infancy/ﬁ?]aﬁ@ﬂ
2. Childhood/dTedTaxT
3. Adolescence/faRIRTaRT

4. Old age/qIARIT

Correct Answer :-

« Adolescence/fHRTIRIT

23) Diphtheria diseases is related to:/fSTHfYaT I &1 Hay fHa &:
1. Brain/Hf&Ts® ¥



2. Lungs/m I

3. Liver/a%d ¥
4. Throat/®us I

Correct Answer :-

e Throat/®»Ud q

24) is started on 2nd October 1994./__ 2 3{dgdX 1994 Eg| TR= g1 UT:
1. Pulse polio campaign/dcd giferdl SfEmE

2. Family planning programme/dfRaR g wrisH

3. Vaccination programme/claTanul 31

4. None of these/3TH I P gl

Correct Answer :-

« Pulse polio campaign/ged Tiferar i

25) Developing the highest job qualification by imparting training to the disrupted person is
called: / STRIA sfTal &) UfRN&0T TP I=AH HTAD! TRYAT T [T BT FEard &:

1. Rehabilitation/g-Tare

2. Inhibition/FRIeM

3. Social Rehabilitation/STHIR® gaa

4. Psychological Rehabilitation/A-IdS® J-aT

Correct Answer :-

« Rehabilitation/g1ara

26) A good source of protein in children is:/STa®] § M 1 U BT JTH DT W AT 8:
1. Green vegetables/gx} Tfesrat

2. Fruits/38I B

3. Milk/g¥

4, Cereals/ 3T

Correct Answer :-

. Milk/gy

27) Qualities of first milk of mother is:/HTal & T4 g4 & T 0T gl &:
1. Excess of vitamin-A/fac®=-A &1 ffddwdr



2. Immunity/FT ¥ TS B diewd
3. Both of the above/G'lﬁTﬁ G|
4. None of these/stl'ﬁf I ﬁ'sc T8l

Correct Answer :-

« Both of the above/JURIad GHl

28) Main reason of malnutrition in India is:/ HRd § g»‘lﬂ'ﬂ'ur BT BT HRUT S
1. Illiteracy/ 31T

2. Poverty/TRIsl!

3. Both of the above/SURId G

4. None of these/37TH ¥ ®Is -Tal

Correct Answer :-

« Both of the above/IWRIgd gl

29) How many days is the menstrual cycle of normal woman's: /|THT=I Tl &7 ATRIS o T fa

el w1 g &

1. 20 days/20 &

2. 25 days/25 fa1

3. 28 days/28 f&1

4. 32 days/32 faA
Correct Answer :-
« 28 days/28 faA

30) In the process of conceive women should not be: /THIUT & SR il S T ) Tg1T 1A
1. Distracted/fa=ferd
2. Worried/fdfda

3. Stress free/ddIdqdd
4. All of these/ISURIad Tt

Correct Answer :-

e Stress free/d-IdHdd

31) Which disease is caused by excess of calcium in children: /9= § HfRIH F1 Sifwdar d S
T IR gl B:



1. Rickets/R&cq

2. Hypocalcemia/%ﬁﬁh%ﬁlm
3. Hypercalcemiam%@@fﬂ

4. None of these/szlff J ﬁ?f T8l

Correct Answer :-

« Hypercalcemia/gBWR bicaferar

32) _ reduces the frequency of Child's diarrhea./__ &=l # o%d &1 gy H $H Ha1 &
1. Zinc/Ri®

2. Iron/3TORA

3. Protein/Eﬁ'c‘ﬁ

4. Calcium/feRrm

Correct Answer :-

« Calcium/&feRraa
33) The carrier of plague bacteria is:/ W & SIIV] FT AEP &

1. Rat/=[gI

2. Cock/HTIf
3. Dog/%pl
4, Goatfslﬁ

Correct Answer :-

34) Which is helpful in digestion of protein:/ fadds N & e # eldd T~IlgH %
L. Trypsin/fefRr

2. Taayalin/ETEﬁ?*F[

3. Amylose/QTITqﬁ\_rr

4. None of these/STH ¥ BIs g1

Correct Answer :-

. Trypsin[f?@ﬁ

35) Which disease is due to lung and respiratory tract infection?/ﬁﬂ%’ 3R XA el & YhHUT &
HRU B A AR g 2



1. Pneumonia/ﬁ'ﬁhﬁm

2. Jaundice/tﬁ%lfﬂ

3. Cholera/%\_rﬂ

4. None of these/3TH § ®13 gl

Correct Answer :-

. Pneumonia/ﬁﬁﬁtﬂ

36) Advantage of breast feeding for infant is: /3d-Td= & fRI] ®1 11 a1 BTAST FIT 3:
1. Mother's milk is digestible/HTdT ST gY JUT=d EIdT &

2. Low chance of infection disease in infant/fRIY] &1 ThTH® I G B FUTGAT HY

3. Both of the above/JWRIad GHI

4. None of these/3TH I ®15 Ta!

Correct Answer :-

« Both of the above/IWRIgd gHI

37) The implementation of a destitute child pregnant is done by whom:/fARTf3d STa[g T T H1
fparag= {9 & grr fbar S &

1. District Hospital/forar fafercaaa grT

2. District women and child development officers/fora Afge Td &1dt fadw™T SIAGRT gRT
3. District panchayat/fSTell Gamdd SfferbRY gRT

4. None of these/3TH O P =gl

Correct Answer :-

« District women and child development officers/fSTaT AfeeT Td a1 faw ™ SIS RT gRT

38) M.M.R. vaccine is not related to:/ TH.UH.3R. IR fhd I A Ieifea 48 8:
1. Polio/difcrat

2. Measales/HToled

3. Chicken pox/JdRT

4. Ear head/®Uthy

Correct Answer :-

. PoIio[Cm?*Rff



The weight of pregnant women in the third month of pregnancy is: /mim?r ¥ dRR A1 # mafadt
W & aor § frat ofe @t 2

1. 1500 gm/week/1500 UTH / Atdlg
2. 1000 gm/week/1000 IH / 9t
3. 500 gm/week/500 U™ / Il

4. 250 gm/week/250 U1H / g

Correct Answer :-

e 500 gm/week/500 IH / Tilg

40) How much screening is required for pregnant women during pregnancy?/ TfawT & IRE
mifadt afgen @t fea S smaza® 82

1. Five/Urd
2. Four/dR
3. Three/dH

4, Two/?f

Correct Answer :-

. Three/?ﬁT-[

41) The nutrient that produces hormones in the body is:/ IR | gRAT BT fwfor #33 arar vue
e DI AT 8:

1. Protein/ﬁﬁ?
2. Vitamin/faeTia
3. Fat/adl

4, Minerals/‘@ﬁ\_rf

Correct Answer :-

. Protein/ﬁ'cﬁ?

42) Which of the following disease occurs due to deficiency in iron:/ 19 A q S 1IN A qqur
Pt HH J BT

1. Beri-Beri/sRI-ai¥y
2. Scurvy/@b_ﬁ
3. Jaundice/ﬁ’ﬁ%lm

4. Aneamia/adTeddl

Correct Answer :-



e Aneamia/Yddleddl

43) In the pulse polio campaign which age of group child is given a durg dose:/ U¢H aifera
AT A frw omg @ & a=at &Y qar & o 2

1.0to 5year/0 ¥ 5 a% d&
2. 5to 10 year/5 § 10 9¥ d®
3.2to 3 year/2 ¥ 3 94 d®

4. 5t0 6 year/5 9 6 I8 d&b

Correct Answer :-

« 0to5year/0 ¥ 53¥ dh

44) Symptoms of malnutrition is: /?Eﬁ'GI'UT P &1 8:
1. Short heighted/f3TH1a=

2. Slimmer body/gddu-
3. Under-weight/®»H duld

4. All of these/ISWRIad It

Correct Answer :-

e All of these/SWRIgd Tt

45) The polio virus affects the child's most- / TiferaY 7T &7 Ird Lk ) ¥ fPada ot
it guIfdd e g:

1. Nervous system/dRaT a3
2. Digestive system/UT= d
3. Respiratory system/Xad dF

4. Circulatory system/Joi df

Correct Answer :-

« Nervous system/dd1

46) Which is the water soluble vitamin:/ {59 % & @19 Ul # gem=ita faerf®= 2:
1. Vitamin-B2//fdeTia-B2

2. Vitamin-B6/facTi--86

3. Thiamine/Ra™=

4. All of the above/ RN T+t



Correct Answer :-

« All of the above/ IURIGd Tt

47) Weight increase in pregnant women during 20 weeks at the beginning of pregnancy:/

TUTGRIT F ARY T 20 FwTs F R Mifadt afgen & sivrd ao= # fpa g 8t 8:
1. 3.8 kg/3.8 fb.m.
2. 4.2 kg/4.2 T
3.2.5 kg/2.5 ..

4.5.0 kg/5.0 .3

Correct Answer :-

« 2.5 kg/2.5 &

48) How much calcium is required daily for lactating mother?/ ¥d-Urq P arell Afgar & ufafeT
e SfRmy a1 smaza® 82

1. 500 mg/500 f&.311
2. 300 mg/300 f.7m
3. 100 mg/100 f.7m

4. 1000 mg/1000 fa. 7

Correct Answer :-

« 500 mg/500 .

49) Which vitamin is obtained from sunlight:/ '\‘[Cf F ST A B9 1 fyerfiq ura ghar %:
1. Vitamin-A/facii=-A
2. Vitamin-B/fdeTa--B
3. Vitamin—C/fde1fi=-C
4. Vitamin-D/fdeTfi=-D

Correct Answer :-

« Vitamin-D/fdei@=-D

50) Itis necessary to give infant after 6 months-/6 HTg & TTq 1] BT 5l
JATIAP 3:

1. Supplementary food/qRe TR

2. Complete foodﬂIUf SIleR
3. Solid food/31 3MER



4. None of these/stl'ﬁf I ﬁ'{f :Eﬂ

Correct Answer :-

» Supplementary food/JRe 3IER

51) In which city is the secretariat of WHO?/ & =8 & WHO &1 Ifaey @R‘r%:
1. London/dc

2. New—yorklw

3. Delhi/feeett

4. Genava/Si=al

Correct Answer :-

« Genava/SHal

52) Dwarfism is the deficiency of:/EﬁT-ITqT-r o o 9 frgst s 3 gar %:
1. Iodine/3MASH

2. Calcium/& o™

3. Zinc/Sdl
4. Magnesium/SHfRmaH

Correct Answer :-

« Iodine/3MaSH

53) Among the following which is the blood clotting vitamin:/ {9 & & @19 Yad ®T YabT SH A
e faert  g:

1. Vitamin—E/faeTfi=-£

2. Vitamin—K/faeTfi=—K

3. Vitamin-D/fdei@=-D

4. Vitamin—-A/faeTfi=-A

Correct Answer :-

. Vitamin—K/fde=—K

54) Which is helpful in the development of bones?/ 719 # ¥ 1 gfesal & fap F forw Jes @2
1. Phosphorusfqv"lwvﬁw

2. Todine/3MAISH

3. Sodium/3fead



4, Potassium/th%ﬁrq'q

Correct Answer :-

« Phosphorus/®mRBRY

55) For breast feeding mother requires daily protein in the diet: /I U+ P arelt 7 B 3R A
wfafe WA #t fpa-t urn smazas gkt 8:

1. 100 gm/100 IH
2. 90 gm/90 UH
3. 70 gm/70 IH

4. 50 gm/50 I1H

Correct Answer :-

e 70 gm/70 UH

Topic:- Grad_General Knowledge and Logical Ability

1) Timmy walked 10 miles from point P towards the East. He then took right
turn and walked 5 miles and taking another right turn walked again for
another 5 miles. How far is he from starting point of his journey?/ ﬁ'uﬂﬁ‘g P

q gd fe=n & 10 Ha $t gff 79 Har 31 98 et R gear § 3k 5 Hia &t gt aa #Ra1 8 T,
iR A gift 3R geor 5 e o1 g8t a9 Fa1 81 39 98 AU WRIAS fdg I forat gl W g2

1. 8 km/ Tt
2. 4 km/ et

3. 5V2 |y fopeft
4. 7V 2 ymy Tt

Correct Answer :-

2) In which year was the Right to Property removed from the Fundamental

Rights? / f&d af # dufy &1 sifter Wifers siftery &) arfere A ger fear ware
1.1976
2.1977
3.1978

4. 1979



Correct Answer :-

- 1978

3) DIRECTIONS: Find out missing number from the figure given below./

fdsn: S & i srpfa o g W= wra S

3.9

4. 10

Correct Answer :-
e« 9

4) Which of the following age-group from poor families is the Ministry of
Rural Development focusing on in the Deen Dayal Upadhyaya Grameen

Kaushalya Yojana? / <9 cuTel SUreard IrHor Siredr aie-1 & iaitd arHior faera
warery, g # @ e uivaRt & S99 smg-aif W e dar 82

1.15-30
2.15-35
3.18-30
4.18-34

Correct Answer :-

« 15-35

5) Fertilization in mammals occurs in-/ iyl § = a_dT %—
1. Ovary/ I CCaRE|

2. Fallopian tube/ Balug- AfaeT |

3. Uterus/ THTRA &

4. None of the above/ SURIGT aﬁs‘ ﬁ

Correct Answer :-

« Fallopian tube/ Baruge AT J



6) When was the Department of Social Justice and Empowerment created? /

qraTioTe < 3R sif¥reriear faur wa wfta foar mar?
1. 2010
2. 2011
3.2012

4, 2013

Correct Answer :-

« 2012

7) The Pradhan Mantri Adarsh Gram Yojana comes under the: / mrmﬁ'sﬁen?;sf
9 i A A | frasd siafa smar 82

1. Ministry of Panchayati Raj / GdTda! sl HATCA

2. Ministry of Rural Development / JTHIUT [d& T HA@T
3. Ministry of Social Justice and Empowerment / ATHTNG =019 3R SiferepTiRar Harea

4. Ministry of Finance / fa< e

Correct Answer :-

« Ministry of Social Justice and Empowerment / TSI =g 3R HfABTRGT HaTerd
8) The cheapest modems can transmit:/ I X1 AISH HATINd BT &
1. 1,200 bits per second / 1,200 ﬁ?ﬁ R IGS

2. 2,400 bits per second / 2,400 focd W Y& e

3. 4,800 bits per second / 4,800 focd R AHe

4. 300 bits per second / 300 Tﬁ"&f R AHS

Correct Answer :-

« 300 bits per second / 300 facq IR AHs

9) Kayakalp is an initiative of - / ®HTH A9 & @ fHua! uga &2
1. Ministry of Drinking Water and Sanitation / TSI 3R Tesdl Harad
2. Ministry of Health and Family Welfare / WY 3R URAR STl HAad

3. Ministry of Drinking Water and Sanitation and Ministry of Health and Family Welfare
jointly / ToTel 3R Ta5dT HATC Ud WA 3R URIR STl HAad




4. None of these /sﬂﬁﬁaﬂéﬁ

Correct Answer :-

« Ministry of Health and Family Welfare / WRg 3R URAR Hed1ur BT

10) According to the Child Marriage Act, 2006, a “child” is a person who has
not completed years of age if he is a male. / 91 faarg srféfay,
2006 & AR GEUI H “qTerd” &1 Y § a8 safad e 39 T TS gan @
|

1. 18

2.19
3.20

4. 21

Correct Answer :-

11) Which of the following diagram shows the correct relation among Tennis

Player, Cricket Player and Student?/fAAfaf@d & ¥ &19-91 3w, ¢
fRaars),fordre fRaars) i faendf & fa ot Jdu <1 gxifar 32

&
@

@

Correct Answer :-

12) Insulin, a hormone is chemically a:/ Eﬂﬁlq B IS U gia1 32
1. Fat/ 94T



2. Steroid/ @ﬁ%@
3. Protein/ M iH

4. Carbohydrate/ EIO—IEI‘TBE@_C'

Correct Answer :-

e Protein/ Eh_a_"f

13) Ram can do a work in 20 days. Ram and Shyam together can do the same
work in 15 days. If they are paid Rs.400 for that work, what is the share of
Shyam (in Rs.)./ I¥ T& &TH & 20 fet & [T #= Gvar 81 39 3R 49 U 1Y e
I 1 B 15 feA1 § 1 % Id 71 afe 3 39 w18 & fw +.400 urd €, 9 7™ 3t foeat
Tl et (v, ®)2

1. 100
2. 200
3.150

4. 50

Correct Answer :-
« 100

14) Vitamin A, D & C are respectively called as 2/ faerfim A,DAC & HHI:

A A1 g

1. Retinol, Ascorbic Acid, Calciferol m,mﬁﬁ m,m

2. Retinol, Calciferol, Ascorbic Acid/ ﬁﬁ, Wﬁ, Qﬁ'ﬁ% 3

3. Pyridoxin, Calciferol, Ascorbic Acid/ W,WW 3
4. Retinol, Calciferol, Pyridoxin/ ﬁa, Wﬂ, PIRIREIERE]

Correct Answer :-

e Retinol, Calciferol, Ascorbic Acid/ 3 é:ila, W, Qﬁ'ﬁ% 3T

15) Which statement about IPv6 addresses are true? / IPv6 Ud & ¥ ® &I T

FUT B B2
1. Leading zeros are required / 30t YT MMATH §

2. Two colons (::) are used to separate fields / & §gald (: :) Wics P el HRA & [oT
UGN fbaT ST B

3. Both of the above / SWRIgd gl
4. None of these/‘&'ﬂﬁ I ﬁ'sc :F&pf



Correct Answer :-

« None of these/'si:l'ff I ﬁ'&c el

16) DIRECTIONS: Choose the missing terms out of the given alternatives./

ford=r: fow e fawedl & @ gw vl @1 91d 3 |
W__ uww ___ W __ Xuw X w

1. XUWUWX

2. XWUUXW

3. XXuwwu

4. XXwwuu

Correct Answer :-

17) The 'stones' formed in human kidney consist mostly of:/HT-1d g u gyt fra uerd & =it
1. Sodium acetate/FfSTH THICT

2. Magnesium sulphate/ﬁ'mﬁm'q Jehe

3. Calcium/sh [qaH

4. Calcium oxalate/HTTTH HIdC

Correct Answer :-

« Calcium oxalate/dTRIGH B

18) Myntra.com is an example of:/myntra.com Td 3glgrUl &
1. Single-user database application/THd-3TANHdl SeTad

2. Multiuser database application/aTg’—BWTﬁ'Fﬁ ST

3. E-commerce/g—a?\l’ﬂﬁ

4. Data mining/<STeT ATSHHT

Correct Answer :-

« E-commerce/3-B1Hd

19) Pointing to a girl,Prabhash said, “She is the daughter of my grandfather’s
only daughter-in-law”. How is that girl related to Prabhash?/U& ds®! &t 3R



SIRT Hd §T THTY A HGT 'd8 A gTerolt Bt THHTT TAaY Pt Tl g1’ 98 a1, Uy I fra
TPR TR 82

1. Daughter-in-law/dg
2. Mother-in-law/d19

3. Sister/dg-
4. Aunt/3fict

Correct Answer :-

e Sister/dgd

20) According to the Prevention of Women from Domestic Violence Act,
2005, who appoints the ‘Protection Officer’? / Tq fgar & afgar dweor srfufam,
2005 & AR FR&T AFYBRY F} FFgfaa H171 Fwar g2

1. Union Government / HG WMBR
2. State Government /g JRDHR

3. President / J1yufd
4. None of these /Eﬂﬁ@faﬂéﬂﬁ

Correct Answer :-
« State Government /I YIhR

21) What is the maximum term of office for the members of the National

Commission for Women? / ?T@HH‘I%?IT STANT & TS\ BT Jal=T Uerary o 82
1. 2 years / 299
2.3 years/3aﬁf
3. 4years/46|'5f

4.5 years/saﬁf

Correct Answer :-

. 3years/3<‘:|13c

22) Persons in asbestos factories are affected by air pollution. The most affected part of their body
is the:/d T ot TEA¥eT Bt Bt & BRI Hd § 9 a1 UGUUT I YUTAd 81d & , ST INR I
DI 3T GUTFIA §HaT &:

1. Eye/\}n@

2. Throat/TTddl



3. Lungs/'av_cb_é_“[
4. Skin/cddl

Correct Answer :-

. Lungs/'av_cb_é,'T

23) By default, on which pages headers and footers are printed? / fswiee ® U
¥, g8 3R PeX H9 ¥ U9 WR file gid 82

1. On urgent page/ 3eede O IR
2. 0n every page/ TS U IR

3. On first page/ Ugd Ul R
4. None of these /s:l'ff q ?ﬁé HB°[

Correct Answer :-

« On every page/ T Us IR

24) According to the Dowry Prohibition (Maintenance of Lists of Presents to
the Bride and Bridegroom) Act, 1985 which of the following information is

required to be kept? / g9 Y (Gee-T 3R gegT ! Ugd B DI YAl ST TWRTT9)
Sf¥f=m, 1985 & AR 7 & | FIRI AFSR TG FHT TTAD 32

1. Value of present / 3UgR &I HcJ
2. Brief description of the present / SUSR &1 Tiar faaxur

3. Relation of the person giving the present to the bride or bridegroom / gegl dl gegH &
1Y JUBR & a7 BT TIa=

4. All of these / IuRad gt

Correct Answer :-

« All of these / ST g4

25) DIRECTIONS: Complete the series by choosing right figure from the given
choices./ fqar: feu e fawedl & & O fawea &1 999 b Joft B R B

STolofo

(a) (b) (c) (d)

]




2, ﬁ
:
:

Correct Answer :-

26) In 28 day of menstrual cycle, ovulation occurson the-/HJ & 28 feq & srvsTeg T A
JUSTT gl &-

1. 15 day/ U9H f&

2. 10% day/ 394 feA

3. 14™ day/ Tegd f&
4, 28th day/ &@éﬂﬁ faa

Correct Answer :-

o 141 day/ dicgd faq

27) Which of the answer figure is exactly the mirror image of the given

figure when the mirror is held at PQ? / g & & #191 Wt SR srmopfa <t it wy smpfar
o1 Wl guur eepfar gft wia qdor #Y PQ W ¥ T 82

Question Figure: /ggal Jrpfar:

)

Answer Figures: / 3¢a? 3 idar

A[V]V |V

(1) 2" (3) (4)

1.1
2.2

3.3



4.4

Correct Answer :-

e 3

28) In which year was the National Commission for Women set up? / TI'@'!T

Afgem ST S ad wirfia fpar e
1. 1990
2. 1991
3.1992

4. 1993

Correct Answer :-

e 1992

29) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ fAq=r: fFafafad uy & users e () & ®=H
TR ST BT T AT ST ?

989 65 515
X =T
34 869 207

1. 840
2.910
3.968

4. 780

Correct Answer :-

« 968

30) Brunner‘s glands are found in-@ﬁ'ﬁ Tfr urdt STt %:
1. Oesophagus/ﬂ'm:l?ﬂ

2. Stomach/3THIRIY

3. Duodenumﬂ]_E?Uﬁ

4, Rectum/ HARK

Correct Answer :-

. Duodenumﬂ]_E?Uﬁ



31) DIRECTIONS: In question below are given two statements followed by two
conclusion numbered I and II. You have to take the two given statements to
be true even if they seem to be at variance with the commonly known facts
and then decide which of the given conclusions logically follows from the
two given statements, disregarding commonly known facts. /e = feg 1w

U # &) HYF 3R TP 91 &I frep 1 3R 11 feu 7u &1 emue) faw T 3 oyl & 9«
AT € HA 8 9 gy aa) A fi=1 uedia g 8 1 9+ ot &1 ufee frr au Fifoe fo
fau e fAemuf A @ o1 -1 frsed fow 1T Hy= &1 ahEITd FUR TR FRAT §, TR
TagTd 9 O W g1

Statements: /PY:

All rivers are mountains/ﬁ'l-ﬁ qﬁ'ﬁ,ﬂ?l%’%

Some rivers are deserts/ P9 :rﬁ'!ﬁ, W%

Conclusions: /fso:

I. Some mountains are deserts/WTs’l‘s,’,Wlﬁ%

II. Some deserts are not mountains/$® AR, UEET-I'&‘T%

1. If only conclusion I follows /af¢ &ad fspY I &IT;NTUTW%

2. If only conclusion II foIIows/’CF%WﬁEb_@f II &I:NTUTW%

3. If neither conclusion I nor II follows /afg = df Fs#s 1 7 g1 11 &WW%

4. If both conclusion I and II follow /afe fAsws 1 3R 11 ST R0 H%d &

Correct Answer :-
. If only conclusion I follows /3f¢ Had fASHY 1 3IIR0 Hl &

32) In MS-Access to open an existing database press:/MS-Access H 'lﬁTrET
Sered @A & fa:

1. CTRL+N
2. CTRL+O
3. ALT+F4

4. CTRL+D

Correct Answer :-

« CTRL+O

33) The average weight of 8 persons increases by 2.5 kg, when one person
whose weight is 65 kg is replaced by a new person. What is the weight of the
new person? /8 AfHYl $T 3T HR 2.5 fHuT T I wITa1 8, 19 65 fru F v aafead &
R WX T T Safad 3T A1aT § | T safed &1 YR |1 82



1. 78 kg/ 78 f3n
2. 82 kg/ 82 U1
3. 85 kg/ 85 f&ur
4. 80 kg/ 80 f&ur

Correct Answer :-

« 85 kg/ 85 foan

34) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ e fruafafed uy & uyeras e ) &
TR THIT DI AT | ST ?

22,9889 + ? = 23
1.32

2.1

3.23

4. 24

Correct Answer :-

e 1

35) Which of the following was the first to ban Sati? / o A 9 = sifufeaw
Tt R ufae=y e & fore wduyy sty 82

1. Bengal Sati Regulation / STTel ¥t Sifafaw

2. Bombay Sati Regulation / St Tal Aff=aH

3. Sati (Prevention) Act/ﬂ?ﬁ(WﬂTﬂ) sy

4. India Sati (Prevention) Act/lﬂ?ﬁﬂ?ﬁ(wtﬂﬂ) sty

Correct Answer :-
« Bengal Sati Regulation / STTd It ffAfTH

36) Who will be the head of the National Mission Directorate of the National

Rurban Mission? / I8 ¥+ firsm & gy firsm fdmeg & yud 19 32
1. Union Minister of Rural Development / U fae T & Haa dAt
2. Minister of State, Ministry of Rural Development /Isd H3T, U0 a9 e

3. Secretary, Ministry of Rural Development / If<id, arHior f[des T #are™



4. Joint Secretary, Ministry of Rural Development / §gdd Tferd, Aol fas g dared

Correct Answer :-

« Joint Secretary, Ministry of Rural Development / ¥gad Hf<d, ATHI0 fadbr Hdrerd

37) Which of the following was introduced for the first time in the Juvenile
Justice (Care and Protection of Children) Act, 2015? / fHIR T4 (STe®! $I
T@¥E 3R TReon) Hfuferaw, 2015 & siafa g # T = fraw HRd ® Gdyyw IR @ran
TYgT1?

1. Foster care / UfquTale S@HTA

2. Treatment of juveniles in adult criminal justice systems in certain cases /@Il'l'ﬁl?ﬁ

T fH IRl & gORd! & MRS ~a1d JUelt & fdiid =ard &1
3. Both of the above/mfa_“ﬁ
4. None of these /ﬁﬁ@aﬂgqﬁ

Correct Answer :-

« Both of the above/ SWRI%Hd Gl

38) A train is called a ‘bus’, bus is called ‘tractor’, tractor is called ‘car’, ‘car’
is called ‘scooter’,’scooter’ is called ‘bike’, and ‘bike’ is called ‘moped’, which
is used to ‘plough’ the field?/ T& YS!’ &) ‘T’ gl STdl 8, I’ B! ‘TFeR’ Bl
WTdT 8, ‘eaeX’ ® ‘PR’ Hel Tdl 8 ‘PR’ Bl ‘TP’ Hgl oTdl 8 ‘WpeR’ B ‘qI5P’ Hal ordl
2, 3R ‘TI5®” P! ‘WIS’ Fel Tdl 8, Wd B! JdTs & Fa1 IuaNT fHar Srar g 2

1. Car/®R

2. Train/?(*ﬂl 3

3. Bus/dd

4, Tractor/?T:ET

Correct Answer :-

39) If a computer is sold at a gain of 10% instead of at a loss of 10% then,
seller gets Rs.5, 000 more. Cost price (in Rs.) of the computer is: /afe T YR
Pl 10% BT DI 3UET 10% TTH R 391 &A1 fasbar & 94 5, 000 3fU® ure grm|

$YR HT Hd A (3. W)
1. 25,000
2. 22,500
3. 28,000



4. 32,000

Correct Answer :-

« 25,000

40) Which one of the following options is/are true? / g # ¥ H=a1 fawey g
82

1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance
from a joint Hindu family/ fe=g STRIGR 3ifAaH, 1956 & gRI sfcdl Tdh ¥gad feg
AR ¥ Had ST BT SRIBR T bt §

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to

inheritance with her male siblings / fg=g STRITYGR FMeH HfAf4aH, 1956 & gRI &fedl ol
30 YTAT & 1Y foRTad &1 IfYPR UeM foar

3. The Supreme Court in 2015 ruled that daughters whose fathers died before
September 9, 2005 however won’t be applicable for the Amendment / 2015 ﬁ{lﬁlﬂ
HIC A g arn &1 for afedt & fUdr &1 g RiawR 9, 2005 & Ud 311 5, 98 39 UMY gRI
e o3 T bR 3 Taied el §

4. All of these / IURIad IHI

Correct Answer :-

« All of these / IWRIad gt

41) How many triangles are there in the given figure?/ a"rns‘&n?ﬁrﬁﬁga‘raﬁ
=T fopat 82

&

3.8

4.9

Correct Answer :-

« 10

42) If the price of sugar decreases by 10%, a man enable to purchase 5 kg
more sugar in Rs.450. Find the original price of sugar./iﬂT-ﬁa?EWﬁ 10% HHI g1



W1 & PRI TP SUHIET 5.450 § 5 fHur ifte i+t @i urar 8,1 9+t &1 wrkffes gea
TTa FIfg|

1. Rs.15 per kg/%. 15 Ufd fan
2. Rs.10 per kg/%. 10 Ufd four
3.Rs.11 per kg/%. 11 Ufa feur
4. Rs.12 per kg/3. 12 ufa feun

Correct Answer :-

« Rs.10 per kg/3. 10 Ufd fooon

43) A man can row at a speed of 5 km/hr in still water. If he row to a certain
point in upstream and back to the starting point in a river which flows at 2
km/hr then average speed of the man for total journey is:/ 2d o H Uh
et @t nifar 5 fpet/gver 8| ag snet Ut & fyudia fazm & e fifdya fog aw wmar @
TUT g URFUS fag W aroy o et 2149 o1 &t fa 2 fet/gver 8, ot 39 snert #t
I & GRTE NAd T 1 DL

1

31 31
1. 5km/hr/ " 5 fHI/GUeT
1
%

1
5_
2. s km/hr/ " & fomHAUe

=
&

1
3_
3. 6km/hr/ & feHl/guer

=
5

1
4,_
4. skm/hr/ s fHH/EUe

Correct Answer :-

1

41 41
« 5km/hr/ 5 THHI/ET

44) To protect a worksheet, you can choose Protection and the Protect Sheet
from the menu / THRIE DI JR&T & fAE, M U F JreT iR JRfde =fte
T TP §

1. Data/ SIcl

2. Edit/ Tf&e
3. Format/ BHc

4. Review/ ﬁal

Correct Answer :-

« Review/ g



45) The difference of compound interest and simple interest on a principal
for two years at 4% per annum is Rs.20. The principal (in Rs.) is:/ afe foredt
TAYT IR 4% YD 11 it 2 I &l TUI &b Ahgis ATl 3R FTURUT T BT 3R =0
20 g, a9 gau_ e (3. H)

1.12,000
2.12,500
3.13,000

4. 13,500

Correct Answer :-

« 12,500

46) According to the Food Security Act, 2013 “central pool” refers to the
stock of food grains which is procured by - / @Il & ar&rﬁuw%ww PRy
& &1 34 § 98 Wrerd #1 HUsK o ERT SuTfoia fpar T 3|

1. Central Government under minimum support price operations / ~gIdH THYT T
AT & dgd hald TRBR

2. State Government under minimum support price operations /Wwﬁqﬁ?ﬂw
& d8d Ao WBR

3. Both State and Central Governments under minimum support price operations /

TAdH A Yod e & d8d hatd RHR Td o WRBR GH!

4. Panchayats, State Governments and Central Governments under minimum support
price operations / FaHd YA Jeg AT & dad Uamdd, I WRHR T4 HEd IRBR

Correct Answer :-

« Both State and Central Governments under minimum support price operations /

TATH THY Jog AT & d8d Haid IRBR U4 Aod IRBR G-I

47) By which year does the India Newborn Action Plan (INAP) aim to end
preventable newborn deaths and stillbirths? / HIRd Fg6ITd ST TSI B a9
T fERU-Gg FaeITd Jog o 3R UHa & GRTH Yo o B! 3id H &1 a9 74T 32

1. 2025
2.2027
3.2030

4, 2033

Correct Answer :-

« 2030



48) The Bhagyalakshmi scheme, a scheme promote the birth of girl children

in below poverty line families, was started in:/ TR a1 & e vgAare ufvary &
asfHal F 0 B gerar 31 & fre yraeHt geT Hid IS § R I ma Are

1. Madhya Pradesh /Ifﬂiltl%{QT
2. Karnataka / ®-lcd
3. Maharashtra / HERTY

4. Andhra Pradesh / 31igJ eI

Correct Answer :-

. Karnataka / $dicd

49) In which year did the Sexual Harassment of Women at Workplace
(Prevention, Prohibition and Redressal) Act come into force? / afgaran &1

Friwd R dffre Iaftea (Frarur, ufasy ik wfaatu) sifufeae foea af @ far mane
1.2011
2.2012
3.2013

4, 2014

Correct Answer :-

« 2013

50) The weights of Mohan and Riya are in the ratio of 7:8 and their total
weight is 120 kg. After joining a gym, Mohan reduces by 6 kg and the ratio
between their weights becomes 5:6. By how much kg Riya's weight has
reduced?/ A1 3R f¥UT BT HIR HHRT: 7:8 F 3rJuTd A 3 3R 70T $a YR 120 fHu 2 |
S & o I & u=ETd HigH &1 HR 6 fHIT &4 81 SI1dT @ 9T 391 HRI T 3guTd HH:
5:6 B ST 8,1 f¥ar &1 YR foa=n & game

1. 2 kg/2 four
2. 4 kg/4 foom
3.3 kg/3 fou
4.5 kg/5 f&u1

Correct Answer :-

. 4 kg/4 fem



DIRECTIONS: Study the following pie chart carefully and answer the question
given below./fAearn: fAufeRad urs =rd 1 @ 9§ srega &R = fou 78 uy &1 I

o

The pie chart shows the profession of total population./ UT§ aT¢ $d S-HBAT &

aYTd P ST g

Population of city/ TR & S=EET = 7, 20,000.

Transponﬂﬁ?ﬁ* Business,/<OMdY,
SED _‘\‘hﬁ‘l - 2‘,\:‘
Industry/3ZgIT,
108°
.ﬁ.griculmre{fﬂ‘.
120°
service/AtweY,

720

How many total people are in business and transport together?/ dMUR dYT

uf¥ae # o fra anr 2
1. 120,000

2. 150,000

3. 40,000

4. 140,000

Correct Answer :-
« 120,000

52) Which of the following schemes has the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan subsumed? / f59 & & ST 11 Woitg e varga

TRIfGIPHRYT AT & 3iaia M1 T2
1. Rashtriya Gram Swaraj Yojana / H@HWWW

2. Panchayat Empowerment Accountability Incentivisation Scheme/ PEIRGRSRIESER|
SIaTece! Uiearg o

3. E-Panchayat / 3-U=mrad
4. All of these / Wi d I

Correct Answer :-

« All of these / SWRIpd Tt



53) In how many districts is the scheme to educate tribal girls in low literacy
districts implemented? / $H AT&RdT a1 foral | snfeardt arfererai ot fRign &3 ot
Ao pd fpa forarsit & @y 82

1. 50
2.52
3.54

4. 56

Correct Answer :-

54) A carbohydrate free diet is recommended for patient suffering from:/fFd T | IRIT w8

1. Malaria / HQifaT

2. Tuberculosis / TUfG®H

3. Hypertension/ 3™ d-Td
4. Diabetes / q‘{l}a_é

Correct Answer :-

e Diabetes / qﬂﬁ?

55) What are lines, curve, freeform, and scribble?/?l'l':-'gef, dsh, WIwH iR f&paa
1 32

1. Emphasis effects that can be applied to animations / THATA R FIF;L‘@QI CINRCIE]
2. Types of custom motion paths / ®¥xH oMYA & TR

3. Predefined entrance and exit effects / Qa-eiRd Ua=r 3R A& guT@

4. All of the Above/ /3udad I+

Correct Answer :-

« Types of custom motion paths / Fed AIRF & UhR

Topic:- Grad_Managerial Skill

1) Speaker-Sppech-Audience model of communication is given by:/ ddl-

YTYUI-gRfe ATed fpad grRT foar mr:



1. Leagans/ SIEE
2. Berlo/ sat

3. Aristotle/ 3¥]
4. Westley/ I

Correct Answer :-

« Aristotle/ 3¥g

2) This is a dictatorial type of leadership where a single person makes the

entire decisions:/ mﬁéwwﬁr@ﬁﬁﬁm%a’rwmwmﬁmﬁm%
ot a1 Tl @:

1. Autocratic/ FRe
2. Democratic/ USITdI~Id

3. Laissez Faire/ ‘eﬂ?r&h:rmﬁam

4. None of the above/ SRigd & A or?lsr:@cf

Correct Answer :-

« Autocratic/ R

3) The first step of community development process was:/ Wﬁ?m
wfehaT o1 Uger @T &:

1. Setting objective/ d&d fAuR
2. Identification of the need/ 3AIH AT Bt Uga
3. Assessing resources/ ITTeH] BT SHidhad

4. Considering alternatives/ fa®edl =R faaR

Correct Answer :-
. Identification of the need/ 3Maxg®dl &I Ugd

4) Fundamental or basic objective of Community Development in India is

the:/ YRd A GG e & Wifae a1 g 32w &
1. Food for people/ AT o fore HisH

2. Development of people/ NIRIERREEIR]

3. Growth of people/ @Rl # gfg

4. Education of children/ =il &t g



Correct Answer :-

« Development of people/ @RT &1 fad™T

5) The degree to which the results of an innovation are visible is called:/

fddt TararR & ufvurmH fe@Ts 81 & TR &) el ST 8:
1. Observability/ THderd
2. Complexity/ Tferdr

3. Compatibility/ JHddl
4. Triability/ TRTfHdT

Correct Answer :-

« Observability/ gdgerdr

6) Second five-year plan was geared for improving:/ i’ Uaaufa g+ 3
gUR F fore dur & 75 <&

1. Agriculture/ ?ﬁf

2. Industry/ REI
3. Modernization/ 3 IH 0T

4. Health/ W&y

Correct Answer :-

. Industry/ SN

7) Self Help group is a:/ ¥4 9gMAdl 9Hg 8 U
1. Voluntary organization/ Wfes® TTa-

2. Non-voluntary organization/ TR-3df5% T

3. Institution/ I
4, Community/ d9ard

Correct Answer :-

. Voluntary organization/ Wfwsed T6

8) The printed bound booklet with a number of pages containing
comprehensive information about a topic is called a:/ f&ft W forg F IR #

I SFSRI ¢4 arell $ Y81 1 gfsd yfeasr sgard! 2:



1. Bulletin/ gaifes
2. Leaflet/ SRdeR
3. Newspaper/ JHERYA

4, Magazine/qﬁm

Correct Answer :-

« Bulletin/ gaife

9) The philosophy of Community Development Programme:/ '\‘ITﬂEIﬁ?FﬁW
$|' .

1. Only democratic growth/ %ad USiTdTi~edh [dHT

2. Development through people’s participation/ QAT 1 UITHTRIAT & A1eH ¥ f[aahT™

3. Educational development/ Qe fasma
4. Nutritional development/ TS f[dHTH

Correct Answer :-

« Development through people’s participation/ Tl @1 GfHIRTAT & ATend ¥ fowr

10) A series of cards presented before an audience one by one to tell a

complete story is called:/ T & THHE T HE a1+ & [OC TH-UPH HIP U= fhd
W 91d BIS| B Y@

1. Flash Cards/qﬁmaﬂéﬂ

2. Flip cards/ﬁ?ltrm

3. Graph/ %

4. None of the above/ SIRIad # ¥ ®Ig g

Correct Answer :-

« Flash Cards/ TR &184

11) The leader allows the employees to make the decisions in:/ S AT

1. Autocratic leadership/ PRS2 Add

2. Democratic leadership/ USTdiA® Aq@

3. Laissez Faire leadership/ 3g®@Ud Add
4. None of the above/ mﬂﬂﬁ@[?ﬁ'ﬁcﬁ




Correct Answer :-

. Laissez Faire leadership/ 3/g®IUN Add

12) National Extension Service was started in the year:/ I8 fawR da1 o1
e 3Td ford oy &1 18:

1. 1951
2.1952
3. 1953

4. 1954

Correct Answer :-

« 1953

13) Date and time of activity is known as:/ ﬂﬁrﬁﬁraﬁﬁrﬁ:amﬁwwﬁ
ST ST 8:

1. Plan of work/ ®Td &1 Ao

2. Calendar of work/ T BT PaieR
3. Perspective plan/ UiRU&d aisHT
4. Annual plan/am?ﬂﬁ:ﬂ

Correct Answer :-

o Calendar of work/ BT BT Bl

14) A self-managed institution of 10-20 members, based on common interest
& affinity for socio-economic improvement of their members:/ 10-20 GGE! B

-YETd SR, S 30 TR & uis fRd wrefore-enfie 5ty w snurfia g 8
1. Communal group/ WWW

2. Residential group/ &ﬂaﬁ'q‘v'lﬂjs’

3. Self-help group/ ¥d-Hg1Adl g

4. Non-formal group/ 3AIUaTR® T

Correct Answer :-

« Self-help group/ ¥@-Helddl Hig



It is an aggregate of two or more persons among whom there is an

established pattern of interaction:/ 98 & a1 3ifY® aufeaal &1 e & e =
Hare &1 WA a1 8T 3:

1. Development/ fa®Ta
2. Group/ dHg

3. Leadership/ ﬁ?j(‘q'
4. Society/ JH

Correct Answer :-

« Group/ 9%g

16) First step of programme planning is:/ PTdHH FAIST BT Ugar @RUT 8-
1. Determining objectives/ 3I£¥a fAuiRa &1

2. Identification of problem/ Wﬁq—s’?ﬂq

3. Collection of facts/ 9l &1 UGl

4. Solution of problem/ JHIT T JHTYUTT

Correct Answer :-

. Collection of facts/ d2l &1 HUGUI

17) The communication method under which lecture comes is:/ agmﬁwﬁ&r
orad siavla sreIT 37

1. Individual/ aafddd
2. Group/ dHg

3. Organizational/ TSATHD
4. Mass/ S (JTaol-d)

Correct Answer :-

« Individual/ Sfaad

18) Gram sewak is an example of:/ UTH Ja® (HIPT ISTEI &:
1. Professional leader/ URIaR Al

2. Lay leader/ 3MUfRiféra Aar

3. Top Leader/ <0 Aar

4. None of the above/ SIRIad & ¥ ®Ig g1



Correct Answer :-

« Professional leader/ URGR AdT

19) MNREGA started to provide:/ T (MNREGA) 3! 3T T SUAS HRIH B

forg 1 73;:

1. Employment/ ISR
2. Education/ fRraf

3. Nutrition/ GTSTT

4. Health facilities / W4 giaurd

Correct Answer :-

« Employment/ ISR

20) The Rural Community Development Programme in Pakistan is called as:/

urfwar A yrftor Argeie faera srfew & w1 war §:
1. Village Aid Programme/ U G HTHH

2. Village Development Programme/ g foer sriea

3. Community Development Programme/ Hlﬁdlmm fasTg HTdHH

4. Cooperative Development Programme/ Tg&R! fa®b™T HRiH

Correct Answer :-

« Village Aid Programme/ U G HTIHH

21) Indicative planning started from:/ J&dTH® AT B AT H9 I §8:
1. Eighth plan/ 334! Ao

2. Seventh plan/ GIEIRISEI

3. Sixth plan/ ETIKIEEI]

4. Fifth plan / giad} i

Correct Answer :-

« Eighth plan/ 3T&AT TroiT

22) Identification of leadership pattern is very important in group:/ ﬁﬂﬁ%
TP B UgarH IYE § 954 I8 &



1. Disbursement/ IEGEUI
2. Mobilisation/ Idddl
3. Running/ ENIE

4. Satisfaction/ H’g’@

Correct Answer :-

« Mobilisation/ Jdddl

23) Leader is one who:/ 3dT 98 gidl S IR

1. Influences politicians/ WWUWW%
2. Influences others/ 3= @NTl TR YHTG ST §

3. Have money power/ g% U o9 wfed gt §

4. Have political power/ fSa& UM IoHifae wfed gt @

Correct Answer :-

. Influences others/ 30 AT TR YHTd STeidT &
24) Panchayat is a:/ UI9d gidl &

1. Village Institution/ I8 IR

2. Village Organization/ UM T3

3. Community/ ¥Hc
4. Society/ qd

Correct Answer :-
. Village Institution/ 919 I&IH
25) PRA is a method of:/PRA SUPI TP d3PI &

1. Continuous checking/ =R Siid

2. Data collection/ 3fi& sl &1 TUGU
3. Identification of problem/ THXI &1 Ggd

4. Solution of problem/ JHIXT T JHIYUH

Correct Answer :-

. Data collection/ 3fichgl BT HUGU



26) The physical bridge between the sender and the receiver of a message

is:/ fpdt < & Verd T urasmat & A9 ifas ya searar 8:
1. Treatment/ UdgRR
2. Response/ UgdR

3. Channel/ HI9H

4. Encoder/ QH$ISQ

Correct Answer :-

« Channel/ HI&gH

27) Monitoring is:/ FFRT @71 313 3:
1. Continuous checking/ =R Siid

2. Judging/ et

3. Evaluating/ i
4. Shifting/ RITA-RUT

Correct Answer :-
« Continuous checking/ FR=R Sii=

28) The Community Development Programme was started with:/ '\‘ITﬂi'lﬁﬁ?
P STdsy B YT 59 AT §5:

1. 45 community development projects/45 H@Emﬁmqﬁqﬁw
2. 50 community development projects/50 GTHaR—A® fddrg aRASHTT
3. 55 community development projects/55 WW@WWW
4. 60 community development projects/60€|ﬁ31ﬁ$ﬁwtlﬁ'@lw

Correct Answer :-

e 55 community development projects/SSWWﬁWqﬁ'm\_rﬂTQ

29) The author of book entitled ‘Education and Communication for

Development’ is:/ "TIHIA TS FTRIHIE B STATHC [&HIP & WP &
1. N.Rollings/ T. et

2. A.Reddy/T gt
3. G.L.Ray/ SI.Td. I



4. 0.P.Dahama and Bhatnagar/ 3.0%. G8THI T HeATR

Correct Answer :-

« 0.P.Dahama and Bhatnagar/ 3.0 T8I d YR

30) A decision not to use an innovation as the best course of action available

is:/ TATOR &1 BRI & FaaH d3P! & U & YT 7 B &1 fofg:

1. Adoption/ i fd
2. Rejection/ 3l fd

3. Perception/ YRUM
4, Utility/ SO

Correct Answer :-

. Rejection/ 3rdipid

31) The communication between superior to subordinate is:/ aRE gRT FAT &
& & I B HET ST 8:

1. Influence/ UHTd
2. Information/ A1
3. Integrative / 3TaGgdh

4. Command/ 3 ail

Correct Answer :-

« Command/ \’rﬂﬁ"«’f

32) Face to face association is visible in:/3THA-TTHA &1 g1 59H fe@rs a1 8:
1. Primary group/ UTiffie 94g
2. Secondary group/ fgdia® g

3. Tertiary group/ Jadid® 48
4. Transitory group/ &I’WTEEFIEE{

Correct Answer :-

« Primary group/ EITWW

33) Eighth five year plan period was:/ 3134l Ygaufg oy 3rafty f:



1. 1997-2002
2.1992-1997
3.1985-1990
4. 1980-1985

Correct Answer :-

« 1992-1997

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd s & aFyd® TeH: 39 4 33 T sgflawed! u=ai & 98t
fawea &1 a7 B

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

HUTT B YU d3F A IR0 A § G 999 BI oi=1d gid! g1 98 fay +u A a3}
Suf~ra) & foe T & Sigl Afaia Ydre yagiie Tg) gidr| 3 IHY W g1 Ui IRy
TTHA 31T g1 3Ny IR § fedl Tred & huariye Guivor I9al &1 STTRT ST
i gar 31 ey Twivor fad} oft Wirew § SR & avw o1 gehdl 81| a1 THid 3t
STt @ 3R ug JHtem ayr fofa a9 & fore yaem & iy TR a& Wil STt 8, siafe e
Y A 3T RIF T K B G ST & ST81 3T fohar=a=1 g | 3&Tgvul & forg, sv=nfyal &
T3 fed} 9 ufparfafial w ATe Sared fAurT 6t 3k @ wgfa & ardt 81 shuenfyes
YT WTe+ A &foet U d W yarfaa 8t Twar 31 I oS UerIHy & SR 9 e
TR & g IV arel drgad ey & fudta, dfas I8ivor g9 W W e F 3@
few=at & = ga1 81 Sereru & fore, forelt vt & ardw UfSe s fawmdt & IR & ==t
P foru TS S5 R IPd &1 fredl T8 & IRT I8 siu=niye Ag) gida1 g1 SFu=TiRe
TR SHHT & NUATRS TRV S & 9188 PHANG] & o9 & g arar GRor gidar gl



gt Ui THvur &1 favy soawra & Wi 8 Tl 8, 98] 39% e 34T 811 &
STIRIHAT 5! 31 MM SUATRE T Ft 'qeI-FeR D' F 7Y H Heu-l HL IPd ¢

What is communication?/ I8l T gidT 82
1. Information sharing/ ‘v'EHTGﬁW STal-Uald

2. Commanding/ 3G AT

3. Instructing/ [RERICRI

4. All of the above/ Iuad Tt

Correct Answer :-

« All of the above/ Iuad Tt

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR fd T sgfawadt yzei o W&t
fawey &1 79q B

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

HUFTN B JHUTR TS T YU HI1 & HeH 9991 &1 91d gidt 81 98 faRy +u 3 7
$uf~ra) & fore T & Siel aafaaiTa Ydare uaeTie T8l gidr| 3 IHY WR g1 Ui qRguy
TTHA 31T g1 3Ny Iuy § fedl Ted & Nuarive TRl A9l & STIRT ST
TE gt 81 Siiuariye Fuigr fedt off e § SR &1 aX® S AHdT 81 AT DA B
STt € 3R g8 FHiam ayr fAofa a_ & fore yeieq & e TRl d& Weil wirdt 8, Safe e
T & I W 9 2 B TG W1 & Sl ST fohar=a= g | ISgvl & forg, paarfyal &1
=% -ifoal g ufparfaftmt w are garea faum & ok @ wxgfa & s 31 situ=nfys
YT e § &fowt U d W yarfad 8 Twdr 1 WTSATHS Uy & SR d e
TR & S RV ard Taad SRl & fudta, afest IRy 969 ©R ® 169 & &



few=at & dta giaT 81 Serevu & fog, fret st & ardw ufrse smm fawumet & ar & ==t
¥ fore famTdt do® w- 9ad &1 et dwe o Jry awivyr siuarfye =& gt 81 Sruanie
R A & SRS TR id & I1gY HHATNG] & St H S arel FHN g1 3|
STel SNy TRVl &1 faug suaara & G g Gl 8, 981 39 e 841 84 3t
SATIRYHT 781 31 MY =i TR H qrer-FHeR AP’ & T A Heu-T H Johd 3

What is formal communication?/ 3fiU=i® TWyor &1 i 82
1. Organizational communication/AT3-THS TRV

2. Non-official communication/ TR-3Hfh TS JHIvr

3. Both of the above/ JWRIad GIHI

4. None of the above/ SWIRIdd H I HIs Aol

Correct Answer :-

« Organizational communication/ATT&THS TR

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Faferfad e &1 wmyde yeo: 39@ R fad T agfawadt uxei o W&t
fam ey o1 999 B3

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

HUFT B THTA Tb F TRV 6 A WEH T B 93 gid! ¢ | 8 Ry T § 7}
HUT) & 70 T @ Wel AfeaiTd Hale gl Tl aidT| 88 IHY W 8 =iy guivor
TTHA 31T g1 3Ny IR § fedl Tire & huarive SRyl A9l & STTRT ST
e giat 81 Siuarfye gy fpdt oft e § SR o1 aRE o1 AHdT 81 AT DA B
STt @ 3R ug |Hiem ayr faofa a9 & forg yeem & iy TR d Wil STt 8, Safe e
T & 39 W 96 =2 ) TG S1d & STl ST fohar=a= g1 | ISrgvvn & forg, syarfyal &1



=% -ifeal g ufparfaftmt w wre Txrem faum & ok @ wgfa & st 81 siu=nfys
YT WS § afos ©u A ff yared 8 &1 81| STe-d® Ugrshd & Sy 9 fHaR
TR & d N T Tad JENr & faudta, afos Tuiver IuH TR W ST o
fewa & f= gaT 21 Iererur & forg, fhft vt & arsa afee s faardl & e & ==t
¥ fore st do HT THd &1 fordl Wre= & TRT awivor shueniye =76 8T 81 sHuEre
TR HFAT & SRS TRV id & 18R HHATRE] & St H F1 arell FHNl gia1 3|
el SNy Ry &1 vy saara & i 8 aodr 8, a8 59 fore 31 81 #°t
SATIRGHT 181 3| MY TP TR B qTeR-FHeR P’ S U H Heu-T HL JHhd 3

What is informal communication?/ G@Wﬁ?mwﬁm%"
1. Non-official communication/ TR- 3BTRS TR

2. organizational communication/ TISTHS TRV

3. Both of the above/ JWRIad Gl

4. None of the above/ SRigd & m\lé‘ﬂﬁf

Correct Answer :-

« Non-official communication/ TR- 3BTRS TR

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 9@ AR 3 M sgfaw«dt uz=i & w8t
fawea &1 9 I

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

U B GHTE TP & T B A F&H 7949 BI oeed gidl g1 98 fa¥iy Fu a 7
$ufa) & fore T & Siel dafaTTa Ydare yagTie gl gidr| 3 IHY W g1 SNuArie qRgoy
ITHA 3ATAT 81 3NuaTie guiyr § fHft e & Nuarfye IR 39! BT STTRT AT



e gaT 81 SNuaTive awigr fhdt ff e ° SR &t TR® W IHdT 8 | a1 ThiAd 3t
STl ® 3R ag wHfte aur fofa a9 & fe ydeq & i wRf a9 Weh s 8, siafe smewr
MY | 3T WM dF 12 F aRE A1 § Tl 371 fpar=a g1 | Igre’vn & forg, w=nfval «t
T3 Afedf 9 ufparfafial w ATe Sared fAurT 6t ok @ wgfa & srdt 81 shuerfyes
Il @16 § &feet 9 oft yarfga g a@ar 81 SeATHS UgTIHH & IR R
R P F TR aTe wrad aRIve & fudid, dfast IR IHH TR W AT S
fewat & = gar 81 Sereru & fore, forelt vt & ardw UfSe smmH fawmdt & IR & ==t
& fore fauTd) 955 &% THa 81 forelt Tire= A JRT Iwivor siu=nfye T8t gar 31 srtu=nfys
RO HFT & SRS TR S & 18R HHATA! & S F g are JRIvr giar 8|
el shuafye wRivor &1 vy sraarg & i 8 9odr 8, 981 5% fre 3a1 8 $°t
STIIHAT 5! 3| MY SRS YT Ht 'qTeI-FAR e[D' B =Y H Heu-l HL APhd &

What is flow of communication?/ JHYT BT 'CIRER ﬁ?ﬂ%"
1. Top to down/ SR T

2. Down to top/ I IR

3. Both of the above/ SWRI GIHI

4. None of the above/ SWRIad H I ®Ig gl

Correct Answer :-

e Both of the above/ IR gl

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa weiv &1 wFyde g 9@ i @4 T sgfawed u=-l & w&t
fawey &1 799 B

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.
While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./



HUFTIT B TUTA TD J IO HIA T G&H g9 B oevd gidl g1 I8 Oy U q 31
ST P U T @ W8l AfaTTd JaTe eI gl aidT | U8 IHY W g =iy geivor
IATHA 3TaT 21 3Ny FRuo § fpedt e & shu=nfye IRivor I« &1 ST ST
i gar 31 Ssiiuanfye Twyor fHadt oft Wre § SR & avw o gl 81 Ja-T THid Dt
STt @ 3R g8 FHiam ayr fAofg ax & fore yeeq & iy TRl d& Wil @irdt 8, Safe e
T & I W 9 A2 B TG W1 & Sl ST fohar=a= g | ISgvvl & forg, SHarfyal &1
=% -Hifoal g ufparfaftmt w are gareE faum & ok @ wgfa & st 81 situ=nfys
YT A § afos ©u A Y yared 8 &1 8| Se-d® Ugrshd & 3wy 9 fFHaR
TR & T G arel drad TR & faudla, &fas IRy 6 W1 W 08T & &)
fewa & f= grar 21 Iererur & forg, fpft vt & arsa afSe smmH faardl & e & ==t
& fore T 950 B Goba B freft Tra & aRT Iuivr siu=niye T8 grar 21 suarfye
TRV HHAT P YIS RV S P 9183 FHANRA] & S § g arer JH9oT gidr g1
el SNuaries THvor T favy aurd & Gt 81 godl 8, 981 39 forg 8HTr 8 &
SATIRGHT T8l 31 MY =T TR B qTeR-FHeR P’ S U H Heu-T HL Johd 3

Write the other name of informal communication?/ MWWW

= fafeg?

1. Organizational communication/ TSATHS RV
2. Internal communication/ 3R RN

3. Transect talk/ 3/q¥ aTdl

4. Water-cooler talk/ GIEQ-WEHWC

Correct Answer :-

« Water-cooler talk/ aIEQ-WEﬂ?ﬂc

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa weiz &1 wFyde ess 9@ i @4 T sgfawed u=-i & wdt
fawey &1 79q B

Companies need to be able to communicate effectively. This is especially
true of large companies where personal interaction may not be practical.
This is where formal communication comes into play. Formal communication
involves utilizing the formal communication channels of an organization.
Formal communication can move vertically in an organization. Information
is collected and flows up to the top levels of management for review and
decision making, while orders flow down from the top to the place where it
will be implemented. For example, employees may be given a presentation
from the human resources department on new policies and procedures.
Formal communication can also flow horizontally across the organization.
Unlike vertical communication that involves communication between a
higher and lower level of an organizational hierarchy, horizontal
communication occurs between two parts of the organization at the same
level. For example, the vice-presidents of a company may hold a quarterly
meeting to discuss the upcoming quarter. Not all communication in an
organization is formal. Informal communication is communication between
employees outside the formal communication structure of the company.



While the subject of informal communication can be business-related, it
need not be. You can think of informal communication as 'water-cooler
talk./

HUfal B THTE! b F TRV S H WEH 1 B 93 gid] o1 I8 AT U F 7}
Huf~ra) & fore T & wiel aafeaia Ydare uagTie T8l gidT| 3 IHY W g1 Ui qRuy
IATHA 3TaT 21 3Nuarye Fauo § fpedl e & hu=nfye TRivr 3=« &1 ST ST
i gar 31 iy Twyor fHadt oft e § SR & avw o1 ghdl 8| a1 THid Dt
STt @ ok ug wHtenm aur faofa a9 & fore yaem & iy TRl & Wil st 8, stafe smewr
Y A I R T 1 B G ST & ST8T 3T fohar=a= g | 3eTevvr & forg, sv=anfyal &
=% fifaat T ufsrarfaftal w are wxreE faumT 3t ok & wgfa &t = 81 siruanfye
Il Tre H Sfest Tu R oft yarfed 8 Toar 81 SIS UeTIHH & IR g R
TR & S GHIUT ardl Taad SR & fudta, afeas 9o 999 ® R W) 169 $ &
few=at & = ga1 81 Sareru & fore, forelt vt & ardw UfrSe smm fawmdt & ar & ==t
& e T 59 B Goba B frft T & aRT Iuivr siu=ie T8 gt 21 suarfye
RV AT P NURTRS TRV 29 & J18% FHATG] P 9 | g1 arer IR gidT 2|
wiel NuaTfYe THvor &1 vy sraura § 9w 8 Godl 8, 981 59 forg 891 89 &t
SATARIHAT Al g1 3T NG THYT B ATeR-HeR [P’ & &Y H Hed-T HY Tohd g

What type of communication used in any organization?/ f&ft Tea # fog avg
& JEIYUT T IUGRT fhar SraT 82

1. External communication/ STg3 IRINT
2. Horizontal communication, &fas gwwor

3. Vertical communication/ FIWGF[?ITQNUT
4. Extra-personal communication/ arﬁﬁaama%%mﬂw

Correct Answer :-

« Horizontal communication/ &fcs TN

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3u@ AR 3 M sgfaw«dt uxei o W&t
fawey &1 799 I

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set-top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve



rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jearse effa IwIvur Iusrg & Aread | myfdf fpar S arar ik Suug (@eerse) fexra
Ye-elu ITRT A Ured fopar = aren Sefaw 81 SWIs (dearse) gdl #f Jag | 37,000
foft (22,300 e & g8 R Ry« 31 ugan Aearge Riva 1962 # gRIU 9 e R dcarse
IR AANRDT a yaTied forar a1 41| SAHfae &1 @ §1F ardT Ugdn Ry SO AR@ Suig
&eaTse) FATST AfF 1 AT St 1973 | U forar a1 11 1960 & GF & AH F,
Uit YRt agfae st fawa arR1uTs A a8 ab 31 IR o {6 enfe @ wrnfore
faeTa 31 Ureanfed o | yard eitfae yomedt yg@ yfiret it aodt 71 IRV 91
Ugd |, 1968 H YRA # TS APIY Aedrse HHYHIE YU (NASCOM) Tt RITYHT B T |
1975-76 ¥ Y= fopaT U1 ATEe (AdTse SUCRMT calfau TaIuie) U UHadly ures
it <t ot RY § YRa § Irfir &3 9@ ugan & e Swre wwiver & wahT & fore
ORIy ¥ 3 991 Ui & foe 3= &6t 1 <01 arde & agal § yrftor fyurera Rign & gur
F1, e uferor e H-1, FiN, WTRA T Wa=5dr U1 WyoT gral § JUIR ST 3R
uf¥arR fraer 9 IT91a Todar § IRTeH ST I ol

Satellite television is television delivered by the means of communication
satellite and received satellite dish and:/ S¢d@Tse eI T IUUT & ATEAH
¥ 3myf fopar Tar Iwre feraur SRT UT fomam T eefifae @

1. Computer/ X
2. Television/ TofaeH

3. Set-Top Box/ Y-y digg

4. Modem/ Arey

Correct Answer :-

» Set-Top Box/ Y-y diaq

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa weiz &1 wFyde e 9@ - @4 T sgfawed u=-i & wdt
fawe &1 799 |

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially desighed programming. SITE’s objectives were to improve



rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jedrse eifa IwIvur Iusrg & Aread | myfdf fpar S arar ik Suug (Aderse) fexra
Je-2Tu gTa | ured fopar ST aran Tefaw 81 SwiE (@earse) Yudt 3t wag d 37,000 fpeit
(22,300 Hen) & gt W fRya 31 ugar Aearse Rrd 1962 & TRIT A SRR AedTge IR
SMATYPT a6 UgTiRd foFam T T | ATIS Ft & J14 arar Ugar IRy SR AN IuUT
@eaTge) HATST I 1 AT =Y 1973 © wafa fam war 411 1960 & =16 & Aed |, Juiis
yRdtg aTe ST, fasy IR1UTS 3 98 a& &1 3= far % snfie a ararfore faer &t
WATied oA § Ipaardt Sefifae yomrel Wy Yt frum wed! 81 aRTHTS ot Ud R,
1968'ﬁWﬁ@?@ﬂﬁmWﬁWW(NASCOM)ﬁWﬁT@I 1975-76 § Y=

o T ATEe (AATse SICHRIT caliavw TRIURHT) TP Thasig uresd ufeaierr ot ot
uwuﬁmﬁunﬂw&ﬁwugﬁ%ﬁqmmﬁw%uﬁw%ﬁmﬁﬂuwﬁm

THTRAT & fore 3= 6t 718 <0t | rse & wgal § yrdior faerer fRiem ® gur &, R
WIRIE0T YeT= FHT, HiW, TR T TS5 9T TIY0T 3Tl & GUR H1 3R ufvar e
T IEH TP § TRTGT AT A Tl

Satellite is located above the earth surface by:/ ﬁ%ﬁﬁtg@é’raﬂm%wﬁm
o IR T e T g

1. 37,000km/37,000 far et
2. 38,000km;/38,000 faHt
3. 39,000km/39,000 fadt

4. 40,000km/ 40,000 faHt

Correct Answer :-

« 37,000km/37,000 foodit

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yeo: 3u@ 1 f3d T agfawadt uzei o W&t
faweu 1999 B

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve



agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jearse eifav IRV IuUg & Aread A myfef fpar o arar ik Suug (@dearse) fexra
Ye-elu ITRT A ured fopar =i arer Sefaw 81 SWrs (dearge) gdt & Jas 37,000 feeht
(22,300 "9 & gl W @ g1 ugar Acarse R 1962 § TRIT A ¢RER AedTge IR
SAPT a6 yaTiRa fam T o1 | AT $t & 14 arar Ugar Iy SR SANS! 3uug
@aATse) FATST 3P 1 U1 Y 1973 § AU forar a1 UT1 1960 F UF & Aey &, Ui
YR A7 Sf. fashd aRTUTE A 98 a9 &1 = far % snfie 9 e faera #
WTied P & Iyaardt Tefaer yumed W@ YfreT AT odl 81 IRIVTS 9 U9 IR,
19681?rWﬁ@ﬂ@ﬂﬁ%ﬁﬁ?mﬁ%mgq(NAscomaﬁwmaﬁﬂél 1975-76 § &
forar T ATge (AATsC SICHRIAT calfavd TRIURHT) U Thayfg uree ufaierr ot ot
TRY | mﬁﬂw%w@%mmm%m%mmwﬁm
TR & e 3e &t 15 A | Arge & dgai | urdior fyurea Rign d Jur &=, Rers
WIRI&VT UeT= B3, FY, WA T W51 94T THUT TR B GUR BT 3R ufvar e
9 T TohdT | ANTCI 31 e T

The first satellite signal was relayed from Europe to the Telstar satellite

north America in:/ UgdT IWIE Hdd XU A TARR Aearge Iust ARSI # Hi9 q af #
vty foar T

1. 1961
2. 1962
3.1963

4. 1964

Correct Answer :-

« 1962

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3u@ AR 3 T sgfaw«dt uzei o w8t
faweu &1 999 B3

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —-top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially desighned programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve



agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jedarse eifav IR0 IuUE & Aread | myfd fpar s arar 8k Suwe (@earse) fexra
Ye-elu ITRT A ured fopar =i arer Sefaw 81 SWrs (dearge) gdt & Jas 37,000 feeht
(22,300 "9 & gl W fRy@ g1 ugar Acarse R 1962 § TRIT A ¢RER AedTge IR
SAf®T a@ yaTiva fooar war 31| TARTAT= &1 @ S arer ggdr 9vq SR SAR@! uug
@qATse) FTST 3P 1 U1 &Y 1973 § AU forar a1 UT1 1960 F UF & Aey &, Ui
YR A7 Sf. fashd aRTUTE A 98 a9 &1 = far % snfie 9 e faera #
WTfed P & Iyaardt Tefaer yumed T YfreT AT adl 81 IRIVTS 9 U89 IR,
19681?rWﬁwvﬁﬂﬁ%ﬁmmﬁ%mgq(NASCOM)aﬁwmaﬁﬂél 1975-76 § &
forar T ATge (AdTse SIS calfavd T e) U Thayfg urée ufvaierr ot st
TRY | mﬁﬂw%w@%mmm%m%mmwﬁm
TR & e 3e &t 15 A | Arge & dgai | urdior fyurea Rign d Jur &=, Rers
WIRA&OT YT B3, HY, WA T W51 94T THUT SR B YR BT 3R ufvar e
q YT TohdT | ANTCI 31 e T

A national satellite communication group (NASCOM) was established in India

in:/ WRA § P ITAT THITUT THE (NASCOM) P RITTAT f5d avf & F1 718
1. 1966
2. 1967
3. 1968

4. 1970

Correct Answer :-

- 1968

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yeo: 3ue HH f3d T agfawadt uxei o w8t
faw ey o1 999 B

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./



Fedarse Soifaer AW IUUT & HTeHAH A SAMYfof forar S+ arerr ofk Iug (dearse) fswra
He-2fy o & ured fpar oI arer Seifaw 81 Suue (@earse) 7t #1 gag | 37,000 fe
(22,300 Hen) & gt W fRya g1 ugar Aearse R 1962 & RIT A SRR AedTge IR
AT 9% uaTiva forar Tar ot | TEAfaw= &) @ 94 aren ugdn TR SR et Suug
@arge) FTST 3P 1 U1 Y 1973 B e forar a1 411 1960 & =16 & Ae |, Ui
yRdtg agTie ST, fas IR1UTE 3 98 a& &1 3= fpar % snfie a ararfore faera ot
mmﬁﬁwm%ﬁﬁmmﬁm@mﬁmm%lm%aﬁmw
1968 ¥ HRA H U AP HeTgC HTHIA U (NASCOM) T RITHHAT BT M5 1 1975-76 H Y&
forar T ATge (AldTse SICHRIAA calfavd Tai¥e) Ue Thayiy uree ufaierr ot st
TRY ¥ YRd ¥ Irfior &= 9% uga & T Iwre awiuur & v & e fakiy w9 3918
TR & e 3e &t 15 N1 Arge & dgai | urdior fyurea Rign d Jur &=, e
UIRA&UT UeT= H3AT, FY, TR T W51 9T W7 I | YR BT 3R ufvar o=
T IPTI TepaT | TRIGT ST JITH AT

SITE stands for:/ |TS¢ (SITE) 31 Y &:

1. Satellite Instructional Television Experiment/ Jodrse I AR RIIESE

2. Serial Instructional Television Experiment/ g IR MYIESE Qaﬂ'aﬁ'ﬁ'c’
3. Satellite Instructional Television Examination/ §¢dlse 3R calfael THIHARH
4. Satellite Inductive Television Examination/ @%FIT'{EE’B’T%H RIIESE WT&@QT:I

Correct Answer :-

« Satellite Instructional Television Experiment/ ﬁ%ﬂmﬁm%ﬁﬁmwﬁﬁﬁ?

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa weiv & wFyde g 9@ - @4 T sgfawed u=-i & w&t
fawe &1 799 |

Satellite television is television delivered by the means of communication
satellite and received satellite dish and set —top box. Satellite is located
37,000km (22,300miles) above the earth surface. The first satellite signal
was relayed from Europe to the Telstar satellite north America in 1962. The
first domestic North American satellite to carry television was Canada's anik
1 which was launched in 1973. In mid1960’s a noted Indian scientist, Dr.
Vikram sarabhai, began arguing that a nationwide television system could
play a major role in promoting economic and social development. At
sarabhai initiative, a national satellite communication group (NASCOM) was
established in India in 1968. SITE (satellite Instructional Television
Experiment) was a one year pilot project in 1975-76 primarily under taken to
experiment thorough satellite communication to reach rural areas in India
with specially designed programming. SITE’s objectives were to improve
rural primary school education, to provide teacher training, to improve
agricultural, health and hygiene, and nutrition practices and to contribute to
family planning and to national integration./

Jedarse efIw TR IuUE & Aread | myfd fpar = aran ik Suug (Aeense) fexra
He-efu afeq A urwd fpar oM arar Qefifae 81 STE (@arge) 7t & Jde & 37,000 fpeht



(22,300 Hen) & g8 W Ry 31 ugan Adarge Rrd 1962 # PRI | SeReR dedrge SR
e 9@ yiva far mar 3t o= @) @ 99 aren ggar TRy SR et Suug
@arse) FTST 3P 1 U1 Y 1973 ® e forar a1 411 1960 & =16 & Aed |, Ui
yRdtg 3T ST, fas IR1UTE A 98 a& &1 3= far % snfie a arrfore faera ot
WTed $A # Iyaardt Tefaer yumel W YfreT AT adl 81 IRIVTE 9 U5d IR,

19681?rWﬁ@ﬂ@nﬁ%ﬁmmﬁﬁwﬁw(NASCOM)a%@maﬂﬂél 1975-76 ¥ =
forar a1 AT (ARdrse S CHRMT calfau TRIUNHE) TP UHayly ures ufvarerr ot ot

mwﬁmﬁuﬁwéﬁw@%ﬁqw@w%uﬁw%ﬁmﬁﬁwwﬁm
TR & e 3e &t 15 N | Arge & dgai | urdior fyurea Rign o Jur &=, Rere
URIEOT UeT= H3AT, FY, TR T W51 9T W7 IR | YR BT 3R ufvar e
T IPTI TepaT | TG ST JITH AT

SITE’s objectives were to:/ HIs¢ (SITE) & 34 :

1. Improve rural primary school education/ TTHTOT T ﬁWﬁT&ﬂﬁﬁwm
2. To provide teacher training/ fR1&id UfRIE0T SUTS BT

3. To improve agricultural, health and hygiene/ ?ﬁf REIRSE2R E@T—Hﬁﬁ%ﬂ'\f

4. All of the above/ Iujad Tt

Correct Answer :-

« All of the above/ Iujad Tt

Topic:- Grad_Child Care and Education

1) Qualitative and Quantitative change are related to:/ {[W&?ITW
uf¥ad= ¥ TwfE &-

1. Growth Cycle/ gf< 9%
2. Energy/ Sl

3. Development & Growth / fd®mg Td gfg
4. Maturation/ GRUddI

Correct Answer :-

. Development & Growth / [d&™ td gfg

2) Mass activity and specific activity are motor activity of / ATH

forare ok fafdree foramd Ry ot fparhierar 3 -

1. Childhood/ STcOTa®T

2. Neonate/ ddvlld
3. Infancy/ QRETTRIT



4. Babyhood/ deUATIR

Correct Answer :-

« Neonate/ dddld

3) Services of ICDS is:/ TIgd STd fAHTT T &I Fare &1 T
1. Health/ WdTI=™]

2. Nutrition/ GIyoT

3. Welfare/ & cdrur

4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SURIad Tt

4) In India AIDS Control Programme was started at year/ YRd |
usd friEvr srfwal @t IREsma gH gs &

1. Year 1985/ 94 1985

2. Year 1988/ a¥ 1988
3. Year 1992/ 9§ 1992

4. Year 1975/ 9 1975

Correct Answer :-
« Year 1985/ a¥ 1985

5) What is the favorable conditions of creativity:/ m%mw

Wﬁﬁ%

1. Positive Social Attitude/ ¥ TTHTSTS UGl

2. Independent family environment/ - aTRaTRe ararasul
3. Social facilitation/ JMHTSTH JIHT
4. All of the above/ SWRIad It

Correct Answer :-

« All of the above/ IuRlad g

6)



Special instructional material is made by:/ ﬁﬁr@éﬂiﬁmm%maﬂﬂ
a"ﬁﬁl'l_cﬂ%

1. University Grant commission/ ﬁ?ﬂ'ﬁw&lﬂ?{ﬂ STIRT
2. Integrated Education in India/ YRd H Tafdd e

3. UNICEF/ gf*¥®
4. All of the above/ IWRIad Tt

Correct Answer :-

« Integrated Education in India/ HRd H THfdd fRren

7) Identification of mentally retarded children are:/ mmﬂﬁﬂﬂw
Bl 8

1. Intelligence test/ §fg U<l

2. Sociometric Technique/ JUSHAT ddb-1d
3. Behavior Observation/ agR At

4. All of the above/ IWRIead IH!

Correct Answer :-

« All of the above/ IRIad I+t

8) What is the foundation year of National AIDS Samiti:/ ?T@'qmqﬁlﬁib‘[
TS d 3T YUl-

1. Year 1999/ 94 1999
2. Year 1988 / 9§ 1988
3. Year 1986 / 9§ 1986

4. Year 1982/ a9 1982

Correct Answer :-
. Year 1986 / 94 1986

9) What are the factor affecting the process of learning:/ ¥aq @I ufspar &1
TYTTad A a0 dd P 9 8

1. Interest/ L]
2. Practice/ ¥

3. Health/ &g



4. All of the above/ SWRIad Tt

Correct Answer :-

« All of the above/ SWRIad gt

10) One ounce formula milk give how much calorie?/ W@H%uﬁf 3T J
Hart frert 2-

1. 18-20 Calories/ 18-20 HaR}
2. 20-25 Calories/ 20-25 $aR!
3. 19-25 Calories/ 19-25 dhaR!

4. 16-19 Calories/ 16-19 HaR!

Correct Answer :-

. 18-20 Calories/ 18-20 &aR!

11) Maturation & Growth cycle are determinants of / afueaar wd gfs
Th ¥ Fuke aa?

1. Development/ IEEAEs]
2. Growth/ f{@

3. Heredity/ 9=IIshH
4. Environment/ drdraxuol

Correct Answer :-
« Development/ fomrg

12) Theory of Regional learning was given by:/ I+ &1 &34 g 5o g1
fear war ur?

1. Kohler/ ®IgeR
2. Pavlov/ gigad
3. Lewin/ dfaq

4. Piaget/ ramere

Correct Answer :-

. Lewin/ dfad



13) What are the emotions of Neonate:/ auiTd 3] & a7 F1 34 &:
1. Anger/ DY

2. Fear/ X

3. Love/ TR

4. Anger, Fear, love/ ﬁ%[, S, TR

Correct Answer :-

« Anger, Fear, love/ ﬁﬂ, S, TR

14) Genes are important carrier of / = WD’E@W%—
1. Heredity/ d=ITIhH

2. Language/ HIHI

3. Environment/ qafaRur

4. All of the above/ SWRIe GH

Correct Answer :-

« Heredity/ 9= H

15) Main AIMS of Viklang punarvas Anusandhan Yojana is:/ ﬁﬁmmgﬁam
ST TIT BT YT &I R 8 -

1. Integrated education/ gofed fRrem
2. Normal education/ qrH e

3. Distance Education/ U=ehTiRdl fRI&M
4. All of the above/ SWRIdd gt

Correct Answer :-

« Integrated education/ gofed fRrem

16) AIMS of Special Education is:/ faR fRrem & 3= w1 ghar &

1. Economic independence/ e WWad

2. Help in adjustment/ THTASH & Fg™IdT
3. Change the attitude of society/ THTS & =f¥& 0 § uRad—
4. All of the above/ SWRIdd gt

Correct Answer :-



« All of the above/ SWRIad gt

17) Percentage of Hemoglobin in newborn is:/ dsTd Yad # e &1 fora-n
wfa=rd gt 8:

1.17-19 Gram/ 17-199H
2. 19-25 Gram/ 19-259H
3.12-17 Gram/ 12-17 9H

4.9-12 Gram/ 9-12 9

Correct Answer :-
e 17-19 Gram/ 17-19UMH

18) Genius or Gifted children IQ is / wfayTar arae & gis-af

gl 8-
1. 130-140 IQ/130-140 &ﬂ'ﬁfﬂ

2.128-136 1Q/128-136 35,
3. 200-202 1Q/200-202 S

4. 150-200 1Q/150-200 3MEF]

Correct Answer :-

. 130-140 1Q/130-140 3MTsH]

19) What is the age of informal education:/ 3FUaTR® RU&T 8 FI MY FIT &:
1. 2-6 Years/ 2-6 %

2.8-12 Years/ 8-12 9

3.10-16 Years/ 10-16 a§

4.4-10 Years/ 4-10 9%

Correct Answer :-

« 2-6 Years/ 2-6 94

20) What are the conditions necessary for mainstreaming of exceptional

children:/ fafkrse aTa! @t g@&71 9RT A MR F34 8 Smaxa® uffRufaar « gl 8:
1. Integrated education/ A& d e
2. Residential school/ 3Mariy faureg



3. Rehabilitation/ gafg
4. Plan of Action/ STITSHT

Correct Answer :-

. Integrated education/ A& d e

21) Which sentence formation is the last stage of development?/ araq fwrof
_ faora ot et saw §-

1. Language Development/ yTeT faera
2. Socialization/ |THTSIHRUT
3. Cognitive Development/ IIMTHS fadmrg

4. None of these/ Eﬁ@f&ﬁ'ﬁcqﬁ

Correct Answer :-

« Language Development/ yTeT faer

22) What is the working Areas of ICDS:/ U®Ipd qTd fAHTH Grei-TT & HII & T
@’cﬂ%:

1. Immunization/ GfdR&0r

2. Growth monitoring/ q@mq:r

3. Supplementary Nutrition/ X TIHUI
4. All of the above/ JWRIed FHt

Correct Answer :-

« All of the above/ IURlad g

23) What is the duration of National AIDS control Organization is ./

TS TEH forimr W it arafy @ i } -
1.10 Years/ 10 a4

2. 5 Years/ 5 9§

3.3 Years/ 3T9

4. 2 Years/ 2 GL

Correct Answer :-

e 5 Years/ 59y



24) Disease caused by virus are:/ ﬁwmmﬂﬂw%

1. Fever/ §@R
2. AIDS/ TSH
3. CANCER/ &R

4. Under Weight / amwsﬁ

Correct Answer :-

. AIDS/ UgH

25) Factor influencing human development are:/ HTd fIerg & uHTfaa &34 ard
PRP &-

1. Nutrition/ TISTT
2. Family/ IRaR

3. Heredity/ d=IIshH
4. All of the above/ IWRIad It

Correct Answer :-

o All of the above/ IWRIad gt

26) chromosomes are called sex chromosomes./

AT T UG PEaTd &-

1. X Chromosomes/ X HIHTH
2.Y Chromosomes/ Y HIHH

3. XX Chromosomes/ XX B

4. XY Chromosomes/ XY CALIRIE]

Correct Answer :-

¢« XY Chromosomes/ XY S

27) Who gave the theory of cognitive development:/ SJTHTH® faHrg Rigr< &
SISl B §:

1. Skinner/ R&R
2. Throndike/ Y e EEg
3. Kohler/ ®IgeR



4. Piaget/ oSt

Correct Answer :-

« Piaget/ s

28) Crying & Vocabulary are stages of which development?/ W@WW
ford faera ot sraw 82

1. Language Development/ yTeT faer

2. Emotional Development/ Faic® A&
3. Cognitive Development/ I3MTIHS fabr
4. Personality Development/ Afada fasr

Correct Answer :-

« Language Development/ HTST fa&T

29) Period before Birth is related to?/ 9= & Ud &1 9Hd fHraw wwfia 82
1. Prenatal Development/ ‘TW&I{[WW

2. Period of Language Development/ HTWI fapT &1 9HY

3. Period of Physical Development/ XI NIRCACEARCI RS

4. None of these/ ST8 J &S gl

Correct Answer :-

« Prenatal Development/ TH®I R &1 o™

30) Motor development in Neonate is related to:/ WMWWW
frad gwfia &

1. Reflex Action/ ‘v’l%\_rlﬁo_ﬁlﬁ

2. Involuntary Action/ 35 fopamd

3. Differentiation/ fafiP®Rur

4. Reflex Action & Involuntary Action/ el fhard G?IT&@%EW

Correct Answer :-

. Reflex Action & Involuntary Action/ T&d fohard 3R 3rifwse foramd

31)



For protection of child right policy was made/ marfilam‘faﬁv&n%g

IS §AT3 -
1. Integrated child protection scheme/ WWW&I’UT@IW
2. Integrated child development services/ Udidd aTd fab T Yart

3. Integrated child welfare/ Thidhd aTd YR
4. None of these/ Eﬁ@f&ﬁ'ﬁcﬁ

Correct Answer :-

« Integrated child protection scheme/ WWW&I’W@W

32) Basic principles of special education is:/ fay e %Hﬁ%ﬁl@?wﬁﬁ%

1. Tutoring in functional skills/ mmﬁma‘famu&r&rm

2. Emphasis on individualized Instruction/ Safadird 31-12‘(%1 WREd

3. Emphasis on awakening of the child senses/ STd®| & JagA131l B ST HA TR I

4. All of the above/ IWRIad gt

Correct Answer :-

« All of the above/ IURlad g

33) Establishment year of National AIDS Control Organization is:/ TI'E@'CIE@R’[
fori=IoT W e S T 4T AT -

1. Year 1991/ 94 1991
2. Year 1992/ 1992 ¥
3. Year 1996/ a¥ 1996

4. Year 1986/ 94 1986

Correct Answer :-

« Year 1991/ 94 1991

34) Development is a ./ e s 82
1. Qualitative Change/ Wwﬁaﬁq

2. Continuous Process/ AR I areht ufsean

3. Birth till death/ S 4 Jg dh

4. All of the above/ SWRIdd gt



Correct Answer :-

e All of the above/ IWRIFd gt

35) What is the height of neonate child at time of birth?/ S & GHY 9elTd

TP P TS fpa-l gidl 82
1.20’5 inch/ 20’55

2.20'3 inch/ 20’359

3.302 inch/ 3029

4.19'8 inch/ 19’8 39

Correct Answer :-

« 20'5inch/ 20’549

36) Characteristics of cognitive development is: / Wmiﬁﬁﬁqﬂﬁ
T 3:

1. Perception/ PRI
2. Abstraction/ 3TgfcdRul
3. Transfer/ =0l

4. All of the above/ IWRIad gt

Correct Answer :-

« All of the above/ SURIdd g

37) Which is National child welfare scheme?/ aﬁ-—wﬁw@umwzﬁw%?
1. United grant commission/ ﬁwﬁamu&raam&rrqﬁ

2. NCERT/ <1 fRiaf sr&er ud ufRieror uikeg

3. Integrated child development services/ FHId aTd faH T TaT JioiT

4. None of these/ 370 ¥ ®Is ol

Correct Answer :-

« Integrated child development services/ THT aTd fqH T a1 AT

38) After birth Neonate does various physical activities to:/ W%Wﬁfﬁﬁ{[
fafir= =iy forard s=ar &:



1. Digestion/ OTa fohdl &1 RS

2. Heat Regulation/ dTY &1 fAg01

3. To develop Immunity power/ AT-UfeRIY® &dT faswRig s
4. All of the above/ JURI GHt

Correct Answer :-

« All of the above/ SURIad Tt

39) Is XY Chromosome are sex determination?/ &I XY I ot fAuior &ed

2
1. Right/ 9gt
2. Wrong/ Tdld

3. Partially Wrong/ 3fifR& e
4. None of these/ 'sﬁﬁ@[ﬁg:reﬁ

Correct Answer :-

« Right/ Tgl

40) Law of Mendal is related to:/ Avsd &1 faw frad Twfia 8 -
1. Environment/ dTdraxul

2. Heredity/ d=IIshH

3. Learning/ TRaAT

4. Exercise/ WY

Correct Answer :-

« Heredity/ =TI H

41) Various forms of expression of creativity in childhood is:/ STTaRIT H

oS al @t sfiafad &1 fafi=T @y #1 &:
1. Dramatic Play/ qeHg Td

2. Constructive Play/ TATHS Id

3. Humor/ 819 HI9

4. All of the above/ IWRIFd gt

Correct Answer :-



« All of the above/ SWRIad gt

42) Method of identification of gifted children is:/ UfHT W¥ =1 g=i @1 g
faftrat = g 8:

1. On Basis of Testing/ TRI&T & YR TR
2. On the Basis of teacher observation/ Rreres FARYer & SMUR W
3. On the basis of records/ 3If¥eRal & YR W

4. All of the above/ IWRIad g+t

Correct Answer :-

o All of the above/ IWRITd gt

43) 10 days Infant is called:/ 10 f&9 ¥ R3] & 7 H7d 3:
1. Child/ TR
2. Neonate/ qa\—snaﬁ]:ﬂ

3. Abnormal Child/ 3HTHIY i

4. None of these/ 378 J ®Is Al

Correct Answer :-

« Neonate/ ddqlld IQI%!

44) What are the main characteristics of childhood?/ Wﬁ'ﬁ@ﬁ!ﬂw

&1 gl 32

1. Curiosity/ forrm
2. Playing/ PCIGE]

3. Reading/ UeHl

4. Talking/ §Td &A1

Correct Answer :-

« Curiosity/ TSR

45) Theories of language Development is:/ YTYT-fapTa & Ry =1 8 &:
1. Maturational Theory/ gRggadr g
2. Learning Theory/ 31 Rigr



3. Cognitive Theory/ IS Rigrd

4. All of the above/ IWRIad g+t

Correct Answer :-

« All of the above/ IURiad g



